10/29/2019

techCONNECT Content

Differential Bushing

1 CRADLE,Front Suspension 52089493AH 1 Yes JU 74

1 CRADLE,Front Suspension 52089493Al 1 Yes JU 74
BOLT,Hex Flange

2 Head,M14x2.00X185.00Mounting,Cradle | 06507957AA 2 No JU 74
Front
NUT,Hex Flange

3 Lock,M12x1.75Mounting,Front 06502835 2 No JU 74

https://dealerconnect.chrysler.com/portal/Controller/Portal

12



10/29/2019 techCONNECT Content
BOLT,Hex Flange
4 Head,M12x1.75X85.00Mounting,Front 06507770AA 2 No JU 74
Differential Bushing
BOLT,Hex Flange
5 Head,M12x1.75X183.00Mounting,Cradle | 06507958AA 2 No JU 74
Rear

Note: Negative (-) item numbers indicate no illustration available.

https://dealerconnect.chrysler.com/portal/Controller/Portal

2/2



